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10:00 40kgF%1~3 50kegF%1~13 90kg AL 1,2
48ke k4 73keg#k14,15 55kg#%3~6
52ke k5 81kef%16,17 66kgHk7~11
57ke %6 50ke#k18~33 90ke B #KL12,13
63kg#%7~9 73ke#k34~41 55keffk14~21
70ke#%10~12 81keHk42,43 60ke#%22~29
70kgH %13 50ke#%44~51 66keF%30~37
40kefH14~16 73ke#k52~55 90kg 4% 38,39
44kefH17~20 81ke#%56,57 55kgfk40~43
48ke k21 ~24 50kg#%58~61 60kefka4~47
52kek25~28 73ke ML YEPL 562,63 66keH248~51
57ke#%29~32 81ke ik HETR 564,65 90ke #:%52,53
63ke#%33~35 50kg Ak HETR: 566,67 55kg Ak HETR 554,55
70ke#%36~38 60ke L HEDL 356,57
70kgAB#%39 66 ke Mk HEPRF558,59
40kef%40~42 90ke tB#%60,61
A4 kg FR VETR 543,44
4A8kg #R HETR 345,46
52keg Mk HETR 547,48
57ke ML HED 549,50
63kg#%51~53
70kg#%54~56
70kg # %57
40ke & HETR [P558,59
63kg AL HEP 560,61
70k HL HED 562,63
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